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1411 A & & Eﬂi%iﬁ@]%@éﬁﬁﬂ?—&%ﬁ 10,000 -10,000
2141 At B |BESERE M T —SEE 10,000 —-20,000
3142 | A # & |BESERERNT —IEE 10,000f  —30,000
442 At B |BSEREERT —SRE 10,000)  -40,000
5/ 4|3 A B |BEEEEHEMmE TSRS 10,000 —50,000
6] 4|6 £ B B EBEIHIESEAEZR 267 ~50,267
Hal|7 A & B |BEEaREmET —SRIE 10,000 -60,267
81417 A & B |BESEIREME T —SEIE 10,000 -70,267
'9 418 A & |BEsEaREmiT — SR 10,000  -80,267
10149 A B |BossanarninT—osE 10,000 —-90,267
111419 A B |BEsSeRamT —SEE 10,000 -100,267
4110 -Eﬁ%iﬁ@%&b‘)\n 489 240,000 139,733
12] 4 |10 B B B Vobnyo 4/100UYy bH—REE 18D MEEERNAY 17,063 122,670
131 4 |10 £ ¥ Bleocol DAY 4/100L Yy bA—REE28D 304 1422,366‘
14] 4 |10 E B & |asAHryk AHODL I A—FElE 189 «V5—%y MEER 990 121,376
15 4'10 A B |BEEREMT —SEIE 10,000 111,376
16] 4 |10 A B (BEEEaREmT —SEE 10,000 ~ 101,376
17] 4 {11 A & \BESEEREmNT —IEIE 10,000 91,376
18] 4 |12 A B |BESEEREMmET —SEIE 10,000 81,376
19] 4 |14 A # B \BEEHHERNT - IER 10,000 71,376
201 4 {15 A B |BBEOREAnT -SEE 10,000 61,376
211 4 15 A & B [BESEEREmMET —SEE 10,000 91,376
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22| 4 |16 At B |EEEOmEm T —ome 10,000 41,376
23] 4 |19 At B |BBEIESRT —oE 10000] 31,376
24| 4|23 At B |EEEmEwE T — o me 10,000 21,376
25| 4 |24 z % 8 |HENFEAER ‘ 84 21,292
26| 4 |24 IS [MEKH CMSHEN 385 16,500 4,792
21| 4 |26 BB B KBSEEw i JUy YHEEE 489 5940( 1,148
28] 4 |26 E B BINTIOP(rYR BEAESWi i JO/\(F-H 4589 _ 1.265]  —2.413




